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Chapter 5 Sample Test (continued)

NAME DATE PERIOD

12. Which i}gﬁlualiq{ Q%r%sp,ands to the graph shown?
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13. What is the solution set of | 2x —3 | > 4?
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14. Pete’s grade on a test was within 5 points of his class average of 94. What is his range
of grades on the test? e o ~ -
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15. Which ordered pair is part of the solution set of the inequality 12 +y < -3x? 14. _— =
Ag’—16, 3) B(l,4) C@4,-1 D (3,-16)
—7 -7 oy Se 1Y V
16. Which inequality is graphed at the right? EEEETE : = , 15, o
SRS Vs T 1. < Ay
1 H I ‘E"a -
Fy<2x+1 Hy< 5 Foke] =] .(0':1), f"-(Z. I ‘é /é
Gy>2x+1 Jy>ix+1 el Y=

17. Taka bought a new coat and new shoes. He

spent $122. Which inequality represents this e 27 7¢] v
situation if x represents the cost of a coat and X +Y 2 /27
y represents the cost of the shoes he buys? -
Al22<y+x By<122+x Cy-x=122 Dy<122-x A
18. Determine which of the ordered pairs are a part of the solution of y + 1 > %x + 3. 17.
F(2,3) G (—4,0) H(1,2) J3, 1) ’
Y7t ! ~z+3 393% 2.7 1% J
19. Which inequality has a solution set of {x | x> -3 orx <—4}? o, 18.
A 2% + 7| <1& CGuY,, C|2x + 7| >Zp&” 7.
B [2x + 7|>1 D [2x + 7| ><)he
20. Laurie and Maya sold at most $50 worth of get-well and friendship cards. The 19. g

friendship cards, x, were sold for $2 each and the get-well cards, y, were sold for
$1.50 each. Which point represents a reasonable number of cards sold?
F (20, 10) G (15, 10) H (18, 20) J (10, 30)
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Chapter 5 Sample Test SCORE

For Questions 1-6, solve each inequality.
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7. The sum of two consecutive integers is at most 3. What is the greatest possible value
for the greater integer?
2y L 2

B £
ATy &7 7.
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Write the letter for the correct answer in the blank at the right of each question .

8. Which of the following is the graph of the solution set of y <3 ory>1? 8
F ﬁ-@-Pl—f—W H oottt ———| '
—4-3-2-1 01 2 3 4 —4-3-2-1 0123 4
L o s o o T o
—4-3-2-1 012 3 4 ~4-3-2-1 012 3 4
9. Which compound inequality has the solution o ey —|— 9
set shown in the graph? ~4-3-2-1 01234
A-l<pn<2 Cnz—-lorn<2 -
B-1<n<2 D-1<n<2 >c Ze & /3
10. Which of the following is the solution set of -4 < 3¢+ 5 <20? _’jg > F
F{t|-3<t<5} H {z|r<-3} N
G {t|t<-3andr<5) Ih(regarss — 8 &=
11. Which of the following is the graph of the solution set of 1 — 4 > 47+ 8 or 3t >14 — 41? 1
A <Gt | C Dot ’
—5—-4-3-2-101 2 3 —~5—-4-3-2-1 0 1 2 3 y APy
L R o D st Dot
—4-3-2— ~5-4-3-2-1 0 1 2 3
4-3-2-1 012 3 4 (E—Z }
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